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(1) EEEmEEs

B2 THEE 1,041 2 1,093 47 162 76| 2,421
TrR2 8EE 1,246 1 1,084 32 161 64| 2,588
TRE2 9 1,396 0 986 55 180 75 2,692
PRE3 OFE 1,789 3 953 56 197 100 3,098

(2) BB

T2 7HE 394 46 106 37| 1,180| 1,265 3,028
ER2 BEE 339 46 101 61 940] 1,103] 2,590
FRR2 9FE 208 26 72 30 747| 1,167 2,250
FH3 OFE 207 21 37 29 575| 1,023| 1,892
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FERE2 7HE 187 201 450 7 845
FErE2 SEE 227 237 581 8 1,053
PrE2 9OFE 266 287 587 g 1,148
Pk 3 058 324 253 967 6 1,550

(2) FRIEFRE - BREMAE

TR 2 THRE 63 330 288 111 48 5 845
PEE2 S HE 81 397 347 1486 82 4] 1,053
TR 2 9OFE 64 434 401 161 g9 0 1,148
TrE3 0HE 112 528 540 239 131 0 1,550




(3) EHERIERES - HRE

T2 THE 329 38 444 7 27 845
FRi2 8EE | 405 . 54 564 8 22 1,053
i PRE2 QR 515 | 42 5586 1 35 1,149
R 3 04 | 655 57 794 4 40 1,550

(4) RRBIESE *‘ﬁ*ﬁﬁ#ﬁ

P2 7EE| 0 141 | 1851 3] . 282 51] .. 1831 845
T2 85K | 144 | . 200 5 421 TV 212 1,053
SRR 2 94 140 184 .- 10 492 . 83} 230 1,149
T3 0FE 152 282 14 703 115| - 284| 1,550
[ 3 ] —EHRERIR R
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FRE2 THE 211 0 57 19 13 300
Tk 2 84EE 224 0 65 19 10 318
ek 9OEE 260 . 0 71 33 17 381
FHE3 O 243 -0 60 31 19 353

(4] REEUHES (BH) A - B - | :
(1) !E’“?m#ﬂ‘ﬁ”‘ (BF) APT (§3’E) ﬁ%ﬁ: ’ :

T2 THEE 27 15 5 7 0 3

T2 84 | 29 11 9 2 1 7 59
FRE2 95 26 12 2 7 8 5 60
k3.0 HE 21 8 3 6 4 13 55

(2) I8

mimakiels (280 87 GHRH) AL

PRE2 THE 23 22 1 4 0 14 64
k2 8 GE 27| 9 2 4 2 6 50
FHR29EE| - 231 11 5 3 0 10 52
FRE3 04 24 13 4 4 2 10 57

[5] EHs - BRZEHY

Fr2 THE 71 27 28
Fri2 8EE 74 36 36
FRE2 95E 80 35 35
EeE3 0FE 78 34 32
(6] ﬁﬁ?‘l’ﬁﬂﬁiﬁﬁﬂ

Fpk2 THE 1 0

FR2 8FE 120 145 178 422 4 0 869
Tk 2 9 R 100 135 - 148 389 10 0 782
FRE3 05E 91 118 | 166 404 9 0 788




